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ivaluate [5 sec xtanrdzx.

a) S5sec®ztanz+C (b} Ssecz+ €.
<) %sec":tanz-%—c (d) 5[sec®z +secztan?z}+ C

e) None of these

3¢
Svaluate f sin

1—(:0829
‘a) —cosb+C (b} cosfd+C
coeﬁ[3‘— 3cos? § — 2sin? 8}

' 1. 2
<) 1= coa? § (d) 3ein"0+C

‘¢) None of these

Evaloate [3csc9 z dzo
(a) %ésca z+C o {(b) 6esctzcotz+ C (¢) —3Bcotz+C

(Q) %eac.’ﬂ c (e} None.of these...

1
(a) %aec‘ﬁ'-!—C (b) %sec29+ C (c) ;sec"’ﬂtan"’ﬂ +C
(d) eect +C (e) None of these

Evaluate /3csczcot.a: dz. %

39
Evaluate f = .
2—2sin" ¢

w (3
Evaluate f sec’ zdz.

xf4

Find the average value of f(z) == sin z on the interva) [I, z]
4 2



10.

11.

12.

13.

14.

15.

16.

Evaluate [coa 3z dx
(a) #in3z+C (b) —sin3z+C

(d) -lé sin3z + C (e} None of these

Evaluate j sin’ 3z cos 3z dz.
(a) % sin® 3zcos? 32+ C {b)

(¢) 3#in?3z(3cos? 3z — sin® 3z) + C ()
{e} None of these

»

Evaluate [ sing- dz.
{a) cos%—}-C (b) —2cosg+0

(d) 2sin? ;.+ c (e) None of these

sec?
Evaluatej dr.
Jtanz :

Evaluate [tan?v: dz.

{a) %lnlsec3z|+0 (b) 3sec?3z+C

{(d) lojcos3z|+C (¢) None of these
- 2 _ 2
Evaluate /w dz.
MnzIx

(a) —2cosz+Infescz+cots|+C
(¢) —secz+C (d)
(e) None of these
Evaluate f:cot 12dz.
(=) —J;f- sec’z?+ C

(d) %ln |sin 2?| + C (e) None of these

. S, i 2
Emuatefw de.
cos?
coa® z
(a) ~tanz+z+C (b)
(¢} sinz—tanz4+z+C (d)

£ % LS Y O

sinr —

(c)

1 ..
zain‘Sz-l—C

) I
Esm‘3z+0

(¢)

() Ziajeins?|+C (©)

3.1131

3
-—sin-z—:’+C

1 2
= 3
3sec T

(b) —Injesez+eotz|+C
cosz+Infescz4cotz|+ C

rcotzlescz? + C

sint —secz+ C

+C



r. E”Yalnale/acch dz.

8. Find the area of the region bounded by the graphs of f(z) = sinz and g(z) = cosz, for
x/4 <z < 5x /4.

,f.l Find the volume of the solid formed by revolving the region bounded
by y = sinz and y = O in the interval [0, x] about the y axis.

(a) (b) —;—:7 (¢) 22

(d) (e) None of-these:-.

0. Write the definite integral that re

presents the arc length of one period of the curve y = sin 21,
(Do not evaluate the integral.) :

e
/___’___,__—-—"/—_m—_-—l_\“—--‘\__‘_ﬂh-" “—_’__._"/_‘/-
z+3
. Evaluate j;’_-i-g 1 N
(a) hijz-3|3C (®) 3 arctan-z + ¢
1 z

T z i - g

() -;-ln(x’ +9) + arctan 3+ C (d) In(z?49)+ 3 arctan= b c

(¢) None of these

.Mnate[-g-\/.%.
() hvEFzz—= () aweinZ=+C (€) VBTZz—2Z+C
() énguc (¢) None of these
1+72
. Evaluate \/;_;.I_fdz.
(a) —%ﬂ+2uuin;+c (b) —m+2msin%+c
(c) mWiz—z|+C (d) x’+2z+arca'mi;-+c

{¢) None of these

5
. te | ——
Evalnae/z”+6z+13 .
, 1
(a) Sljz? +8z+ 13|+ C (b) 5(-5-+3z’+131)+c
5 3 5 5 i
(<) Earctan-z—jz-——+0 (d) —;+—éln|:|+lsx+c



o T _d
Find the indefinite integral: [ 16+ 24 z
12 L iy,
1 z :
bt .4+ C e) Nope of these
(d) g resec + ()
Find the indefinite integral: fm—_:—z_: dz.
S 1 =
(a) Earcnn;—-&-c (b) —ZL_Bmtan?+C
1 z3?
(d) =sarctan-—+C {e) None of these

9 9

Find the indefinite integral: f 3—6-%?. dz.

1 T3 ; 1 z?
— arctan — = aresin —
(a) mzrca.n_6+C' (b) 2arcsm6+C
1 z?
(d) g Aresec o+ c (e) None of these

Evaluate [52-*. 16 dz
z2 49

5 .. L 16 | =z

1

Evaluate /-——— dz
vV—-3-+44z - 12

(c)

l—laa'a.rcsec fg— +C

1 z3
—arctan — 4+ C
6a.rt;ame.-!-



